EAGRAROBREERT — 2 N— ABISH —F

202055890 (£) 2E&FI3H

2R [ L S (w8 | mEmml - |5 5 om
[AE4£] 1% :160,000 @ ~ 23#&:56,000 "  33%&:32,000H . 437&:24,000MH . 573&:16,000 4
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S st s FRREMER 128. -8-8- . — B (B5)
r NEDEE 4 5 S 1(2_8)7 8-8-8-3 | 41.0 1 37) EE%—W
L:TVHA XTI R B:bL—2514 b 2T ARG
T # 5 | EFRAE 1:28.8 3-4-4-3 |41.5| — 6 460 | BHEZ (SH)
2|gl11|¥zEZ>F 56.0 (1/2) (1) |EHERZ
L:O—Xx>J8L B:NFHT AR5
RPN B 5 | WiskES 1:29.0 2-2-2-1 |42.1| — 3 464 | AAREEBD (SHI)
37|10 E=NY - 54.0 (3/4) (15) |BEE
R:E—E—-HNEY B:HISE1T7N—b 25 IR
. o 4 | EAMEX 129, 77— . — BEILRE (FH)
4lglin| 7R HER— 4 R 1(32/%1 7-7-7-6 | 41.4 9 (4_716) e ?71,;
L:x+v 77 bhyw—L B:gyFATI-K HBET7—L
. KHEAE :29. —6-5- . — RIFFET] (SH)
L:ZZXH2LR BAYI/IA by Y palibie)
4 3 | EEFH 1:29.5 9-9-9-10 |41.6| — 8 439 | AT (ZH)
EE g|7VAKNT7— 56.0 (7 4%) © | EEx
L:7A7% B:hZT1h—-L FEFWL A
. . 4 3 | HEME 1:29.6 4-2-3-2 | 42.5| — 4 452 | BHEZ (BH)
71515 J—JLRAK~TL 56.0 (7€) = EREFE
Libh—tikwLAY B:ieHUTA HEE {5—
N N LHIFE : -11-11- — #llEE (FH)
8 e s o4 = 1(.12/92.)7 1-11-11-11{ 41.4 10 &5} S
Ly hUFR—A B:XRXHILIR DAY ¢
# o5 | ANERE 1:29.7 10-10-10-9 | 41.8 | — 5 451 | BHEZ ()
8 3| ¥ILFx 56.0 (A3) 7 |FmeY "
L:O—-J X124 B:ULAI—-T+a1— AH 1F
. 4 4 | FERER 1:29.8 6-5-6-8 |42.2| — 7 461 | BAAREE (&)
N - FAREYETA s 56.0 (1/2) o |FeskE
R:yA7% BiYFT— 4 RS- J—Hr Ty —1
. it 4| KEHREER 1:30.8 12-12-12-12| 41.1 | — 12 | 494 |MIEE (ZH)
11 4 b—t2FzOFx— g 56.0 (5) +3) LS
R:b—t>rAL>Zx H:b—t>OE> BREHM IXF1T77—AL4
i 6 | ZHESL 1:31.2 1-1-1-5 | 44.5| — 1 449 | TEEHET] (HH)
12079 | FNETUaA 753.0 @ @) | B 52Ty -8 8- F
R:T7PRVIT B:41FIVY v b— v 2
@ 1—F—@&BIEf
13=zr= 9,10,11,5,6,7,12,1,8,3,2,4
2d—F— 9,(5,10),11,7,6,12,1,8,3,2,4
Gal=7r= 9,10,5,11,6,7,12,1,8,3,2,4
43— — 10,5,(1,11),9,12,6,7,3,8,2,4
[ RN
B OB 1 140M 714K 1-11 1,230H e & 1-8 1,330/ 3ER 1-10-11 3,650
% B 1 1304 1-10 2201 | | B E 1-11 2,510 | | 3EE | 1-11-10 17,930
1 340/ 10-11 1,010H BB 1-1 3,320M
10 1609

ARICOVWTRDTEEERROODE. TR LI,




